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5 z & B z &t BEAAN | AEAN | B & 5 8 ] HEH
RFK 5427 5,394 10,821 91 91 182 4775 85 49 5518 5,485 11,003 4,909
KEFEXINF 1,244 1,218 2,462 36 29 65 1,079 39 7 1,280 1,247 2,527 1,125
KFELEFE 573 582 1,155 1 459 1 2 575 583 1,158 462
KFFHE 399 383 782 0 4 4 324 0 4 399 387 786 328
XFHE 365 343 708 2 290 4 2 370 345 715 296
KFEH 348 363 711 7 3 10 324 6 4 355 366 721 334
KFELih 905 868 1,773 23 10 33 803 21 9 928 878 1,806 833
KF#AE 138 146 284 1 0 1 118 1 0 139 146 285 119
WHAEF1TH 285 267 552 2 3 5 237 1 1 287 270 557 239
WwH#AEF2TH 169 166 335 0 2 2 139 0 2 169 168 337 141
WwHAEITH 128 122 250 2 5 7 119 6 1 130 127 257 126
WHAEF4TH 676 690 1,366 13 20 33 502 14 8 689 710 1,399 524
WwHAESTH 297 293 590 0 1 1 243 0 1 297 294 591 244
WHAEF6TH 435 404 839 2 5 7 335 0 5 437 409 846 340
WPHAEFERER1ITH 51 45 96 0 0 0 37 0 0 51 45 96 37
WHAHEFRR2TH 276 252 528 4 3 7 185 3 2 280 255 535 190
WPHAEFERITH 417 399 816 4 2 6 302 3 3 421 401 822 308
WHAHEFRATH 1 0 1 0 0 0 1 0 0 1 0 1 1
H—TH 479 485 964 10 11 21 423 10 4 489 496 985 437
Hh=TH 618 585 1,203 5 10 15 498 5 4 623 595 1,218 507
BHf=TH 610 605 1,215 18 12 30 531 17 5 628 617 1,245 553
WEITE 146 145 291 5 1 6 08 3 3 151 146 297 104
WE2TH 109 95 204 0 1 1 91 0 1 109 96 205 92

14,096 13,850 | 27,946 230 216 446 11,913 219 117 14,326 14,066 28,392 12,249




